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Osna 3°
A 3x—1-2<2)l-x < 3x-1|-2x-1|<2 &
' Slr-l<2e-2<x-1<2&-1<x<3
4 2 _
B (x-1) =3(x-1) —4_0} 0?30 -4=00" 1 (ATIOPPIIT )
Ostw  (x-1)Y =w,0 >0 =4
x—-1=2
apa (x—1) =4= 7
x—1=
I

V3 N2 BB @Q_ V2(3-42)  _3+\BV2 VB3V2-2
V3-vV2 B2 (B-A2)A342) (W3 +42)W3-2) 1

=3+/34/2-(/342-2) 2 — 2 +2

=3o2=4e

lx—l<:>9x+9:—x—1<:>10x:—10<:>x:—l

y=3(-)+3=>y=-F+F=>y=0

g wou & eivorto  A(-1,0)

Ta 0&pata Tpoopiloviat Yo ATOKAEIGTIKT (PNOT] TS PPOVIICTNPLUKNG LOVASAG



Eravainnkd Otpota OEQE 2007 3

B.2.
d(AO) = /(X ,— X, ) +(¥, —¥o) =+/(-1-0)* +(0-0)* =v1 =1=>d(40) =1

B3. Apkel f(-1)=0 (1) +AU(-1)-1=0=-A- =0 1=0

B4, Tw =0 f(x)=x"-1
x<-1 :

Aszif(x)>0<:>x2—1>0<:>x2>1<:>|x|2>12<:> n'
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